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ECONOMICS (Subject Code — 030)
| Paper Code — 58/6/1 |

Maximum Marks: 40
Q. EXPECTED ANSWER/VALUE POINTS Marks

(a) Distinguish between Consumption goods and Capital goods.

1. | Consumption goods refer to those final goods which directly satisfy the wants of 1
the end user/consumer.

Whereas:
Capital goods are those final goods which help 1n the production of other goods 1
and services.
2
OR

b) “National income includes income earned by factors of production, within
the domestic territory only.”
Defend or refute the given statement with valid reasons.
The given statement 1s refuted, as national income 1s the factor income earned by 2
the normal residents of a country, irrespective of whether earned within or outside
the domestic territory.
(To be marked as a whole)

2. | (a) State the meaning of ‘Worker Population Ratio’.
Worker Population Ratio 1s defined as total number of workers 1n a country
divided by population. (In percentage). 2

(any other relevant point/definition to be allotted marks)

OR

(b) Mention any two emerging challenges in health infrastructure.
Two emerging challenges in health infrastructure are:

(1) to create a sufficient public health care system in rural India. 1
(ii)  to ensure access to improved medical facilities for women. 1
(any other relevant point/argument to be allotted marks)
2
3. | In a hypothetical economy, when savings are zero, it is given that:
(a) the level of Income =< 100 crore, and
(b) Autonomous Consumption (¢) = % 40 crore
Calculate the value of Marginal Propensity to Consume (MPC) in the
economy.
Given; Y =3 100 crore and ¢ = T 40 crore
When S=0; C=Y (break-even point) 72
Hence, C= % 100 crore
We know, C=c¢ + MPC(Y) Z:
100 =40 + MPC (100) Z!
MPC = 60/100 = 0.6 Z!
2
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4. | (a) State the meaning of Effective Demand.
Effective demand refers to that level of aggregate demand which 1s fully met by 2
the corresponding supply in the economy. (To be marked as a whole)

OR
(b) Distinguish between Voluntary unemployment and Involuntary
unemployment.
Voluntary unemployment reters to a situation where an able-bodied person 1s not !
willing to work at the prevailing wage rate.

Whereas,

Involuntary unemployment refers to a situation where an able-bodied person who
1s willing to work at the prevailing wage rate, 1s not getting work.

5. | (a) “Maintaining Air Quality Index (AQI) is the need of the hour.”
Do you agree with the given statement? Justify your answer with a valid
argument.
The given statement 1s true. Owing to the rise in air pollution, monitoring and 2
maintaining good air quality 1s the need of the hour. Better air quality helps to
reduce medical 1ssues like asthma and other respiratory problems.
OR

(b) State any two advantages of Mini-hydel Plants.
Two advantages of mini-hydel plants are:

(1) Eco-friendly. 1

(11) Generation of sufficient amount of electricity to satisty local demands.

(any other valid precaution to be allotted marks) 2

6. (a) On the basis of the following data, calculate the value of Gross Value
Added (GVA) at Market Price:

S. No./ | Particulars Amount
(T in lakh)
(1) Depreciation 20
(ii) Domestic Sales 200
(iii) Change in stock (-) 10
(iv) Exports 10
(V) Single Use Producer Goods 120
GVAmp = (11) + (111) + (1v) — (V)

=200+ (-10) + 10 -120
= ¥ 80 lakh

17%

V2

OR 3

(b) Explain any two precautions that should be taken into account, while
estimating National Income by Expenditure method.

Two precautions of Expenditure Method are:

(i) Any expenditure on intermediate consumption should not be included, as | 17

it may lead to problem of double counting.

(ii) Expenditure on transfer payments should not be included, as these are | 17

unilateral in nature.  (any other valid precaution to be allotted marks)
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On the basis of the following information, compare and analyse the population
growth rate among the given countries:

Country Estimated

Annual Growth of
Population Population
(in million) (In %)
China 1371 0.5
Pakistan 188 2.1
Source: World Development Indicators, 2017
The given data shows that, on annual population growth rate front, Pakistan
(2.1%) stands virtually more than four times China (0.5%).
China could arrest 1ts annual population growth rate, with the implementation of
some stringent measures in the late 1970s, like the introduction of the ‘One Child
Norm’. (To be marked as a whole)

In an economy, if there is a fall in Bank Rate, how would it affect the demand
for credit? Explain.

Reduction 1n the bank rate (by the Central Bank), may lead to a fall in the lending
rates by the commercial banks. Consequently, loans available at lower rates may
encourage the general public to borrow more. This may result in an increase in the
demand for credit in the economy. (To be marked as a whole)

(a) “If the rate of resource extraction exceeds the rate of regeneration, it leads
to a reduction in carrying capacity of the environment.”
Highlight any two consequences, stated in the given statement.
Two consequences of such a situation are:
(1) global warming which may lead to the melting of polar ice and an
eventual rise 1n sea level.
(1) ~ other environmental problems like Ozone depletion may cause serious
threats to living organisms (sustenance of life).
(any other relevant point/argument to be allotted marks)

OR

(b) Explain any two advantages of use of Non-Conventional Sources of
Energy.
Two advantages of the use of non-conventional sources of energy are:

(1) Cleaner energy — Such sources of energy are eco-friendly 1n nature.

(11) Cost-effective — Energy generation from such sources has lower

maintenance costs.
(any other relevant point/argument to be allotted marks)

17%

17%

17%
17%
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10.

State any two reasons for slow economic growth and re-emergence of poverty
in Pakistan.
The reasons for the slowdown of growth and re-emergence of poverty 1in Pakistan’s
economy were:
(1) Volatile performance of the agriculture sector due to lack of
institutionalised process ot technical change.

17%
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(11) Over-dependence on remittances and foreign aid. 1%
(any other relevant point/argument to be allotted marks)

11. | (a) “Health is one of the most important sources for human capital formation.
Health furnishes the complete state of well-being desired for a nation to grow
with its people.” Elaborate the given statement.

The given statement 1s appropriate, as health 1s a state of complete physical, mental
and social well-being of a person and not the mere absence of disease. It 1s a 2
yardstick of one’s well-being. Healthy manpower contributes more to the growth
and development of the nation. (To be marked as a whole)

(b) “Infrastructure contributes to economic development of the country.”
Justity the given statement with valid arguments.
Yes, infrastructure contributes directly to the economic development of a country,
as:

(1) Infrastructure boosts productivity across different sectors of the economy. 17

(11) Infrastructure induces investment leading to an increase in income. 17%
(any other relevant point/argument with valid explanation to be allotted marks)

12. | Explain any two fiscal measures to correct the situation of deficient demand.
Two fiscal measures which may be used to solve the problem of detficient demand
are:
(1) Decrease in taxes may lead to an increase in the money at the disposal
of the public. In turn, this may push the consumption and investment | 27
expenditure 1n the economy, thereby correcting the deficient demand.
(11) Increase in government expenditure may increase the purchasing
power in the hands of the public. This may increase the aggregate | 272
expenditure 1n the economy, thereby correcting the deficient demand.

13. | Case/ Source Based Question
Read the following text carefully. Answer questions number 13(a) and 13(b) on
the basis of the given text and common understanding:

As for the first advance estimates of annual national income released by the
National Statistical Office (NSO), India’s Real GDP is estimated to grow by
9.2% 1n 2021-22, as compared to a contraction of 7.3% of 2020-21.

According to NSO, investment and exports have achieved more than full
recovery of the corresponding pre-pandemic 2019-20 levels. Similarly, private
consumption has also improved to recover 97.1% of the corresponding pre-
pandemic level and stands fully recovered in the second half of the financial
year 2021-22. Private consumption expenditure is estimated to grow at 6.9 %
in 2021-22 as against a contraction of 9.1% in 2020-21.

Fixed investment in Indian economy is estimated to grow by 15% in 2021-22,
as against a contraction of 10.8% in 2020-21. In 2021-22, exports and imports
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of goods and services are estimated to grow 16.5% and 29.4% (at constant
prices), respectively.
Source: The Economic Times; 1 February, 2022

(a) Using the following data, calculate the percentage change in Real GDP:
(Assume 2020-21 as base year)

Year 2020-21 2021-22
Estimated Real GDP 13 9.2
Percentage change in Real GDP = Change in Real GDP X 100 1
Real GDP
=(9.2-7.3) x 100 1,
Vo
=26.02 % &

(b) (1) State any two economic variables which have shown positive sign after
the pandemic period.

Two economic variables which have shown positive sign after the pandemic
period are:

l. India’s real GDP 1s estimated to grow by 9.2 % 1n 2021-22 as compared to 1
the corresponding figure of 7.3% 1n 2020-21.

2. Private consumption has also improved to recover approximately 97% ot the
corresponding pre-pandemic level and stands fully recovered in the second 1

half of the financial year 2021-22.

(1i1) Define Real Gross Domestic Product.

Real Gross Domestic Product (GDP) 1s defined as the money value of all the 1
final goods and services produced within the domestic territory of an economy,
measured at base year prices.
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